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typescript Wed Apr 03 14:55:57 2002 1

fail temp

1 1 53

2 1 57

3 1 58

4 1 63

5 0 66

6 0 67

7 ¢ 67

8 0 67

9 0 68

10 0 69
11 0 70
12 0 70
13 1 70
14 i 70
15 0 72
16 0 73
17 0 75
18 1 75
19 0 76
20 0 76
21 0 78
22 0 79

0

Call: glm(formula = fail ~ temp, family = "binomial")
Deviance Residuals: :
Min 10 Median 3Q Max
-1.061112 -0.76128 -0.3782822 0.4523828 2.217506

Coefficients:
Value Std. Error t value
(Intercept) 15.0422911 7.3366528 2,050293
temp -0.2321537 0.1076141 -2.157279

(Dispersion Parameter for Binomial family taken to be 1 )
Null Deviance: 28.26715 on 22 degrees of freedom
Residual Deviance: 20.31519 on 21 degrees of freedom
Number of Fisher Scoring Iterations: 4
Points out of bounds X= 75 ¥= 3.252558
[1] "95% CI for risk probability for Challenger at 31 degrees F"

1 1 1
0.3614313 0.9996087 0.9999999




Failure data vs. temperature
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